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QUESTION 1

Where can business process users start manual unstructured (Adhoc) activities that are not hidden?
A. Work details page in Process Portal

B. Launch details page in Process Portal

C. Process Instance details page in Process Portal

D. Process Performance details page in Process Portal

Correct Answer: C

QUESTION 2

A shared object is passed by reference from a process to two different services. The process and services
each contain a separate copy of the business object. When the first service completes, the shared object
values are automatically persisted to the data store.

Which statement is true regarding the second service?

A. When the second service starts, the shared object values are automatically loaded from the data store.

B. When the second service starts, the shared object values still refers to the copy of the business object it received
from the process.

C. When the second service starts, the shared object values have to be manually loaded from the data store.
D. When the second service starts, the shared object values is passed by the process again.

Correct Answer: D

QUESTION 3

How can performance data be tracked across processes?

A. Create and configure tracking groups.

B. Enable autotracking on each activity of the process.

C. Put all tracked activities in swimlanes mapped to the same team.
D. Activate all snapshots which contain desired autotracked variables.

Correct Answer: B

C1000-015 PDF Dumps | C1000-015 VCE Dumps | C1000-015 Study Guide 2/3


https://www.passapply.com/c1000-015.html
https://www.passapply.com/c1000-015.html
https://www.passapply.com/c1000-015.html

VCE & PDF https://www.passapply.com/c1000-015.html
2024 Latest passapply C1000-015 PDF and VCE dumps Download
PassApply.com

QUESTION 4

The process model below shows a development practice that is inefficient and may cause performance issues in an IBM
BPM application when a high volume of process instances are executed at the same time. Which inefficient
development practice is modeled below?

A. Not clearing variables in exposed human services

B. Requiring user intervention in each loop iteration

C. Using sequential system lane activities inefficiently

D. Using multi-instance loops in system lane or batch activities

Correct Answer: A

QUESTION 5

What will happen when sequence flows evaluate to false in an inclusive gateway?
A. The instance will never complete.

B. The default sequence flow will be followed.

C. A failed event will be created for the process instance.

D. The gateway will wait for one of the sequence flows to become true.

Correct Answer: B
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